2 4

20 JERERIBBETIRE

SHI2E1285H (1)

HRiE—EFx (KL3— F : 20280533) BRI LR (D1 2O LBEHE) (BE#a— F : 282040)
A sm
#H 141 24z 31z 44z 5 i 6 i 74z 8 i
B N
12/5 | 1 18 BiL E?K(G) 4:35.13 J‘#—* EE(S) 4:45.65 EP’FI IE,\:EZ(S) 4:46. 80 ’E; ﬁgﬁ(m 4:47.38 /ﬁu gﬂ'{(ﬁ) 4:49 24 1 ‘JD:/I(S) 5:03.82 IJ\** ﬂﬁ.j((s) 5:04. 96 ﬁ 5552(6) 5:05 18
INE1500m
7 RERC NHS &2 Z=RC NHS &= Z=RC NHS &= Z=RC RE=RC £ 2RC RE=RC £ 2RC
12/5 o[ FIB® 40102 hE D 40810 %  BED 40071 ME EAD 4030 XH A 41356 BR BB 41500 KR & 42170 Bk BAD 42713
1500m
BEHIS il = BHIS i) = SEERHAC HETS Rk b 1B R o
12/5 . FEH OFAE)  8:31.68 thiF RE(3) 8:35.77|uth EH(Q) 8:35.98 | HEEKEA) 8:38.90 AA AE(3) 8:39.66 FTE FIEE()  8:40.09 FRR (1) 8:42.07 A #WEQ)  8:42.80
3000m
BHIS i) = BHIS i) = BHIS HES BHIS i) =
12/5 60 i G 14:26.33 Bl #K(3) 14:26.95|3E2M 22 (3) 14:54.31|IuA EEFE(3) 14:54.73 {18 Mk (1) 14:54.82 %k M=) 15:00.24 Fei&E HA(3) 15:00.45 ikt MIZE(3)  15:00.79
5000m
LIS 4 Bk L 6 mES mES mES mES mES mES mES
A sm
EH 14 243 31 afr 5 i 61 714 8 i
=] A
25| “ BII 96 2:31.35 =Kk Z=EG) 2:31.62/18  MHE®G) 2:31.89 FHE +ifE6) 2:35.02|7Fk E£#G) 2:35.15|%E EMG) 2:36.41 £F  (6) 2:43.68 BH FE®6) 2:45.02
INEB8OOm
RERC G} RERC R =RC %3l %3l %3l R =RC
125 m5ﬂﬁ%%QB) 4:36.76 BRIl RREE(3)  4:40.25 M fE#(1)  4:54.60 BBER  E(1)  4:54.95 A FHZT() 4:58.94 BH  FEQ) 5:05.01 RA E4x(2) 5:00.27 Mk HZEQ  5:09.55
1500m
RIS ic)i = IR K& gHih-RE ABIE REh LLIf& ERIE
12/5 10 EE $TQ)  9:45.53 HIUAD Q) 9:52.66|EA 53 (3) 9:53.58|hatEzE/y(3)  9:53.96 ks FI(3)  9:57.58 A{R HIK(2) 10:05.30 4t /MEQ) 10:14.99 T Wk 10:18. 68
3000m
RRES REh RRES ERES RRES IERRE S ERES AMURORC
ER|ER ) 17:47.26
12/5 5000m 1
PNTEZTPN
SMA% e v
ES 3244 xig %8 A - BiE BE - IERTREE SRS B B BB =4 En
xF 1944 BB 9:00 i 11.0°C JtE - 1.4m 63%
10:00 W 13.0°c  4t# - 0.5m 55% # . IERTH =Y E: KB HE En
11:00 Eh 14.0°C Bm - 1.3m 57%
12858 ()
12:00 Bh 15.0°c  4L3 - 0.5m 48% 2. EREE SSRGS B/HRIE: Il BE N
13:00 Eh 15.0°C Bm - 1.9m 48%
NHS : BEERT/NEHTRRER BT 13:35 Bmh 15.0°C Mo 2.4m 48%




